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General Intelligence & Reasoning

1). Read the given statements and conclusions
carefully. Assuming that the information given in
the statements is true, even if it appears to be at
variance with commonly known facts, decide
which of the given conclusions logically follow(s)
from the statements.

Statements:

No man is engineer.

No engineer is driver.

Some drivers are shop-keepers.

Conclusions:

|. Some men are drivers.

Il. No shop-keeper is engineer.

lll. Some shop-keepers are not engineers.

(a) Only conclusion | follows.
(b) All of the conclusions follow.
(c) Either conclusion | or Il follows.

(d) Only conclusion Il follows.

2). An amount of Rs.6,764 is to be distributed
among four friends P, Q, R and S in the ratio of 8 :
6 :3:2. How much amount will P and R get in
total?

(a) Rs.4,120 (b) Rs.2,848 (c)Rs.3,766
(d) Rs.3,916

3). In a certain code language, 'MODERN' is written
as '4681095' and 'TRACT' is written as '29262".
How will 'BELGIUM' be written in that code
language?

(a) 410379313 (b) 4103141834 (c) 4103149313
(d) 251278214

4). Read the given statements and conclusions
carefully. Assuming that the information given in
the statements is true, even if it appears to be at
variance with commonly known facts, decide
which of the given conclusions logically follow(s)
from the statements.

Statements:

All aero-planes are cars.
All helicopters are cars.
All cars are scooters.

Conclusions:

I. All helicopters are scooters.

Il. Some aero-planes are helicopters.
Ill. No aero-plane is helicopter.

Language)

(a) Only conclusions | and Il follow.
(b) Only conclusions | and Il follow.
(c) Conclusion | and either conclusion Il or lll follow.

(d) Conclusion Il and either conclusion | or Il follow.

5). Select the option that is related to the third term
in the same way as the second term is related to
the first term.

FRIDGE : EGDIRF :: GROUND : ?

(a) NEUORG (b) DNUORG  (c) DNUOGR
(d) DNOURG

6). Among 80 students, 24 passed in Chemistry, 35
passed in Physics and 29 passed in Mathematics.
8 students did not appear for the examination. If 2
students have passed in all the three subjects, 2
students have passed in Physics and Chemistry
both but not in Mathematics, 2 students have
passed in Chemistry and Mathematics both but not
in Physics, and 8 students have passed in Physics
and Mathematics both but not in Chemistry, then
how many students have passed in Mathematics
only?

(@20 (b)19 (c)18 (d)17

7). The Venn diagram below best represents the
relationship among which of the classes given in
options?

(a) Languages, Social Sciences, Scientists
(b) Hindi, English, Spanish
(c) Hindi, English, Languages

(d) Television, Refrigerators, Fans

8). Five friends K, L, M, N and O are sitting around a
circular table facing the centre. N is to the
immediate right of K. L is to the immediate left of
M. N is at the second place to the right of M.
Where is O sitting?

(a) Between Nand M (b) Between N and L
(¢) Third to the right of L
(d) To the immediate right of M



9). Select the correct alternative to indicate the
arrangement of the following words in a logical and
meaningful order.

1. City

2. Country
3. Room
4. Flat

5. Building

(3)3,4,1,5,2 (b)3,4,1,52 (c)4,35,1,2
(d)3,4,51,2

10). Joya comes out of a bank and walks 14 m
towards north. Then she turns left and walks 20 m.
Then she turns left again and walks 36 m. Now
she turns left and walks 65 m. In which direction
should she turn now and what distance should she
walk in order to reach a hospital that is 45 m east
of the bank?

(a) Right, 29 m (b) Left, 29 m (c) Right, 22 m
(d) Left, 22 m

11). Select the letter cluster that will replace the
question mark (?) in the following series.

SD, QF, NH, JJ, EL, ?

(a)BO (b)YN (c)AM (d) ZN

12). Select the number that will correctly replace the
question mark (?) in the series.

5,6,10,19,35, 7

(a)43 (b)55 (c)40 (d) 60

13). Four letter-clusters have been given, out of
which three are alike in some manner and one is
different. Select the odd letter-cluster.

(a) L-O-R-N (b) F-I-L-H (¢) R-U-X-T (d) C-F-I-D

14). Select the number that will correctly replace the
question mark (?) in the series.

339, 284, 229,174, 7

(@) 19 (b)120 (c)117 (d) 118

15). Stepping outside her school, Katrina walked 40
m towards South to reach an ice-cream parlor.
From there, she took a left turn and walked 15 m
to reach a bus stop. She then took a left turn and
walked for another 30 m to reach the central park.
What is the approximate shortest distance
between the ice-cream parlor and the central
park?

(@)46m (b)335m (c)37.5m (d)50m

16). Select the number that will correctly replace the
question mark (?) in the series.

9, 14, 24, 39, 59, 2
(a) 86 (b)84 (c)90 (d)82

17). Select the option figure in which the given
figure(X) is embedded (rotation is not allowed).

(@

(b) .

})ff

(c) (d)

18). Select the option that is related to the third term
in the same way as the second term is related to
the first term.

HIJ: NLK :: PQR :?

(@ WTS (b) WUS (c)VUS (d) VTS

19). If the first thirteen letters of English alphabet is
written in the reverse order and then after A, the
remaining 13 letters are written in order, which

letter will appear at the 17t position from your
right?

(@D (E (c)C (d)F

20). Amit is younger than Arjun by 6 years. If the
ratio of the ages of Amit and Arjun is 5:7, then
what is the age of Amit(in years)?

(@) 35 (b)45 ()15 (d) 41

General Knowledge & General
Awareness
1). A mascot was first introduced in the Asian
Games in the year:
(a) 1966 (b) 1982 (c) 1958 (d) 1998

2). The union territory of Lakshadweep was formed
in the year:

(a) 1956 (b) 1955 (c) 1957 (d) 1954

3). Which of the following is a macromineral needed
in large amounts by the human body?



(a) lodine (b) Zinc (c) Phosphorus (d) Iron

4). Which of the following is an enzyme that works
as a meat tenderiser?

(a) Lipases (b) Papain (c) Amylase (d) Glucose

5). In India, is celebrated as the
Constitution Day or Samvidhan Divas to
commemorate the adoption of the Constitution of
India.

(a) 15th August  (b) 26th November
(c) 12nd October (d) 26th January

6). Nek Chand Saini is best known for:

(a) transforming trash and debris into the Rock
Garden of Chandigarh.

(b) planning the city of Lavasa near Pune.
(c) designing the Lotus Temple in New Delhi. X
(d) the painting titled "Woman With The Lamp.

7). Who is the first Indian to win the FIH (Fédération
Internationale de Hockey) Player of the Year
award 20197

(a) Dhyan Chand (b) Manpreet Singh
(c) Bharat Chetri  (d) Ajit Pal Singh

8). Gangkhar Puensum, the highest unclimbed
mountain in the world, is located in:

(a) Nepal (b) Bhutan (c) China (d) India

9). The Terracotta Army of China describes the life-
sized figures found near the tomb of Emperor

(a) Qin Shi Huang (b) Ming Chengzu
(c) Tang Taizong (d) Han Wudi

10). Which of the following gases is used in the
manufacture of soft drinks?

(a) Oxygen (b) Carbon monoxide (c) Radon
(d) Carbon dioxide

11). Tawlhlohpuan is a handicraft from which state
of India?

(a) Himachal Pradesh (b) Mizoram (c) Assam
(d) Tamil Nadu

12). Which among the following was intimately
related to the issue of depletion of ozone layer?

(a) Rio Conference (b) Montreal Protocol

(c) Toronto World Conference

(d) Stockholm Conference

13). Which of the following statements regarding
eligibility for the selection to the post of President
of India is INCORRECT?

(a) (S)he should be qualified for the election as a
member of the Lok Sabha

(b) (S)he should be a Graduate
(c) (S)he should be a citizen of India X
(d) (S)he must have completed the age of 35 years

14). Who received the Lifetime Achievement Award
at the Times of India Sports Award, 20197

(a) Sunil Gavaskar (b) Prakash Padukone
(c) Balbir Singh (Sr) (d) Bhaichung Bhutia

15). The second battle of Panipat was fought
between:

(a) Akbar and Hemu (b) Babur and Ibrahim Lodi
(c) Jahangir and Mahmud Lodi
(d) Humayun and Sher Shah Suri

16). Which among the following is NOT an east
flowing river?

(a) Subarnarekha (b) Palar (c) Periyar
(d) Brahmani

17). Articles 243- 2430 of the Constitution of India
deal with which of the following?

(a) Emergency provisions (b) Tribunals

(c) Official Language (d) Panchayats

18). Which of the following books is authored by
Arundhati Roy?

(a) The Ministry of Utmost Happiness
(b) Sea of Poppies (c) The Suitable Boy
(d) Fasting Feasting

19). Which of the following is the National
Consumer Day of India?

(a) 24th September (b) 24" November
(c) 24t December (d) 24t October

20). What was the theme of the World Tuberculosis
Day, 20207

(a) Go ahead (b) Don't look back (c) Get started
(d) It's time

Elementary Mathematics



1). The given histogram represents the frequency
distribution of average runs scored by 50 selected
players from a district in a local cricket tournament.

Frequency

105 20.5 30.5 405 505 605 70.5

Runs

What is the overall average score of the 50
players?

(a)29.3 (b)385 (c)32.6 (d)37.1

2). sSudeep invested 1 of a certain sum at 5% p. for
8

two years and 3 of the sum at 6% p. for two years
5

and the remaining at 10% p. for two years. If the
total interest received is Rs. 1,674, then the total
sum invested is:

(a) Rs. 13,000 (b) Rs. 12,000 (c) Rs. 10,500
(d) Rs. 12,500

3). After allowing a 10% discount on the marked
price of an article,a dealer makes a profit of 5%.
What is the marked price, if the cost price of the
article is Rs.3007

(a) Rs. 400 (b)Rs.320 (c)Rs. 375 (d)Rs.350

4). The monthly salary of a person was Rs. 50,000.
He used to spend on three heads- personal and
family expenses (E), taxes (T), philanthropy
(P),and rest were his savings. E was 50% of the
income, T was 20% of E and P was 15% of T.
When his salary got raised by 40%, he maintained
the percentage level of E, but T became 30% of E
and P became 20% of T. By what percentage is
the new savings more or less than the earlier
savings?(correct up to one decimal place)

(a) 16.4% more (b) 8.2% less (c) 8.2% more
(d) 16.4% less

5). The following pie-chart and table show the
percentage distribution of farmers in 5 states A, B,
C, D & E of a country who claimed insurance due
to drought in the year 2017 and ratio of males to
females of the number of farmers in states,
respectively.

Study the pie-chart and the table carefully and
answer the following questions.

Note: Some data are missing in the pie-chart and
table, if required in any question, find the missing
data first and then answer the question.

Total number of farmers who claimed insurance in
the year 2017 = 2,64,000

o Ratio of Male to Female in the farmers who claimed insurance in 2017
Male : Female

A 05:03

B 04:01

C

D S

E 03:02

The number of farmers who claimed insurance in
state C exceeds

the total number of farmers (who chimed
insurance) in state E and state

Atogether by 5280. What is the percentage of
farmers who claimed

insurance in state E?
(a) 10% (b) 15% (c)40% (d) 25%

6). A single discount equivalent to three successive
discounts of 8%, 15%, and 12% is:

(a) 17.5% (b) 68.816% (c) 35% (d) 31.184 %

7). If x2 - 5x + 1 = 0, then the value of
PIERE
\ X

@21 (b)22 (c)25 (d)24

8). Rice is now being sold at ¥29 per kg. During the
last month, its cost was ¥25 per kg. By how much
percentage should a family reduce its
consumption, so as to keep the expenditure the
same as before?

(correct to nearest integer)

(a) 14% (b) 13% (c)15% (d) 12%



9). Let AABC ~ ARPQ and

ar(AABC) 4

L — __.fAB=3cm,BC=4

ar(APQR) 9

cm and AC = 5 cm, then PQ (in cm) is equal to:
(@12 (b)45 (c)5 (d)6

10). Ifx+y+z=19,xyz=216andxy +yz +zx =
114, then the value of x> + y3 +z3+ XyzZ is:

(a) 1225 (b) 1441 (c) 361 (d) 577

11). The given bar graph represents the number of
boys and girls in five different schools. Read the
graph and answer the question that follows.

Number of Boys and Girls in different school
M Boys W Girls

850 800

800 750

750 700

700 650 650
# 650 600 600
§ 500 550
- 550 500
2 500 450
& as50
: o
[
£ 300
5 250
Z 200

150

100

50

0
A B C D E
Schools

What is the ratio of the girls from schools A, B and

C taken together to the boys from all schools taken

together?

(a) 59:66 (b) 17:33 (c) 33:17 (d) 66:59

12). Pipe A, B and C can fill an empty tank in 30/ 7
hours, if all the three pipes are opened
simultaneously. A and B are filling pipes and C is
an emptying pipe. Pipe A can fill the tank in 15
hours and pipe C can empty itin 12 hours. In how
long (in hours) can pipe B alone fill the empty
tank?

(@4 (b)6 (c)3 (d)S

13). The given hectogram shows the frequency
distribution of the speed of car passing through a
particular spot on a highway. Read the paragraph
and answer the following question

Number of Cars

40-50 50-60 60-70 70-80 80-90 90-100
Speed inkm h

What is the ratio of the number of cars with speed
less than 60 km/h to the number of cars with
speed more than 70 km/h?

(a) 8:13 (b)5:8 (c)85 (d)13:8

14). The given hectogram shows the frequency

distribution of the speed of car passing through a
particular spot on a highway. Read the paragraph
and answer the following question

100

Number of Cars
v
o

{ l;;v
40-50 50-60 60-70 70-8080-90 90-100

Speed in km h

What percentage of a car were running with the
speed of 90 km/h and above?

(a) 10% (b) 15.75% (c) 11.25% (d) 21.25%

15). The given hectogram shows the frequency

distribution of the speed of car passing through a
particular spot on a highway. Read the paragraph
and answer the following question

90 g5 W

Number of Cars

40-50 50-60 60-70 70-80 80-90 90-100
Speedinkmh

The number of cars with speed (km/h) in the
interval (60-70) km/h is what percentage less than
the number of cars with speed (km/h) in the
interval (70-80)km/h?(correct to one decimal
place)

(a) 5.9% (b)8.6% (c)5.6% (d)7.5%



16). The following pie chart shows percentage
expenditure of a country on different heads. The
total expenditure is ¥ 1,680 (in billions). Study the
chart and answer the question.

Misc: 1
Employee: 7
Subsidy: 21
Defence: 12
" Interest Payment: 15
Proceeds to states: 34 ot Health: 4

Education: 6

The total amount of expenditure for education and
health (in billion Rs).

(a) 168 (b) 126 (c) 186 (d)84

7). ffx+y+z=13,x2+y2+22 =133 and x> +

3453= , -
y® +z° = 847 , then the value of ”K}"Z is:

(@8 (k)7 (c)-9 (d)-6

18). Three partners shared the profit in a business
in the ratio 8 : 7 : 5. They invested their capitals for
7 month, 8 months and 14 months, respectively,
What was the ratio of their capitals?

(a)49:64:20 (b)20:49:64 (c)20:64:49
(d) 64 : 49 : 20

19). A number is first increased by 40% and then
decreased by 25%, again increased by 15% and
then decreased by 20% . What is the net
increase/decrease per cent in the number?

(a) 7.2% decrease (b) 6.4% increase

(c) 3.4% increase (d) 3.4% decrease

20). The average temperature for Monday,
Wednesday and Friday was 41 OC . The average
for Wednesday, Friday and Thursday was 420C . If

the temperature on Thursday was 43°C, then the
temperature on Monday was:

(a)43°C  (b)41°C (c)42°C (d)40°C

English Language

1). Select the most appropriate antonym of the
given word

FLAUNT

(a) flash (b) sport (c) boast (d) cover

2). Select the most appropriate synonym of the
given word

MORTAL
(a) gentle (b) benign (c) lively (d) deadly

3). Choose the most appropriate option to change
the voice (active/passive) form of the given
sentence.

| was laughed at by my friends when | fell off the
chair.

(a) My friends were laughing at me when | fell off the
chair.

(b) My friends laughed at me when | fell off the chair.
(c) My friends laugh at me when | fell off the chair.

(d) My friends are laughing at me when | fell off the
chair.

4). Select the correct direct form of the given
sentence.

He told the compere to start the programme then.
(a) He said the compere, "You can start the
programme now."

(b) He told to the compere, "Start the programme
then."

(c) He asked the compere, "You may start the
programme then."

(d) He said to the compere, "Start the programme
now."

5). Given below are four jumbled sentences. Pick
the option that gives their correct order.

P. Mother told me that our new neighbours had a
daughter of my age.

Q. | wanted to run out and meet her.
R. | was overjoyed to hear it.

S. Before | could do so, mother said that the girl
could neither walk nor talk.

(a) PQRS (b) PQSR (c) PRQS (d) PSQR

6). Select the most appropriate meaning of the
underlined idiom in the given sentence.

My cousin talks non-stop and bugs me when | try
to study.

(a) gives encouragement (b) hinders my work

(c) gives assistance (d) irritates me

7). Select the most appropriate option to substitute
the underlined segment in the given sentence. If
there is no need to substitute it, select ‘No
substitution’.



No sconer did she start running than she tripped
and fell.

(a) and she was tripped and fallen
(b) No substitution (¢) when she trips and falls
(d) than she trip and fell

8). Select the most appropriate synonym of the
given word

ACCUSTOMED

(a) habituated (b) expelled (c) delegated
(d) disturbed

9). Select the correct indirect form of the given
sentence.

Neha said to me, "l am going to see a movie
today."

(a) Neha said that | am going to see a movie today.

(b) Neha said that she were going to see a movie that
day.

(c) Neha said that she was going to see a movie that
day.

(d) Neha said that she is going to see a movie today.

10). Select the most appropriate option to substitute
the underlined segment in the given sentence. If
there is no need to substitute it, select ‘No
substitution’.

This is the city wherever | were born twenty years
ago.

(a) where | was born  (b) No substitution

(c) where me were born  (d) wherein | borne

11). Select the correct direct form of the given
sentence.

My mother told me that she would buy me a new
dress the following week.

(a) My mother told to me, "l will buy you a new dress
the next week."

(b) My mother said to me, "l would buy you a new
dress the following week."

(c) My mother said to me, "She would buy me a new
dress the following week."

(d) My mother said to me, "She would buy me a new
dress the following week."

12). Select the most appropriate option to substitute
the underlined segment in the given sentence. If
there is no need to substitute it, select 'No
substitution".

Always check under the seat tharoughly before
you have placed your luggages.

(a) you are placing your luggages
(b) you placed your luggage (c) No substitution
(d) you place your luggage

13). Choose the most appropriate option to change
the voice (active/passive) form of the given
sentence.

A new book is being written by him.

(a) He writes a new book.
(b) He will write a new book.
(c) He is writing a new book.

(d) He has written a new book.

14). Select the most appropriate option to substitute
the underlined segment in the given sentence. If
there is no need to substitute it, select ‘No
substitution’.

Do you have little time with me?

(a) No substitution (b) the little time from

(c) little time of me  (d) a little time for

15). Choose the most appropriate option to change
the voice (active/passive) form of the given
sentence.

The pilot misunderstood the instructions from the
control room.

(a) The instructions from the control room was
misunderstood by the pilot.

(b) The instructions from the control room have been
misunderstood by the pilot.

(c) The instructions from the control room were
misunderstood by the pilot.

(d) The instructions from the control room are
misunderstood by the pilot.

16). Select the most appropriate synonym of the
given word

PROMISING

(a) compromising (b) hopeless (c) bright
(d) worthless

17). Identify the segment in the sentence which
contains the grammatical error.

Is there anything else you want to knew?

(a) you want (b) Is there (c) anything else

(d) to knew?

18). Select the most appropriate option to substitute
the underlined segment in the given sentence. If



there is no need to substitute it, select 'No
substitution needed'.

From my opinion, her mother is smarter than her.
(a) By mine (b) No substitution needed (c) On my
(d) In my

19). Select the most appropriate option to fill in the
blank.

We don't know how the accident happeneWe are
in the dark.

(a) thoroughly (b) completely (€) accurately
(d) appropriately

20). Select the most appropriate option to fill in the
blank.

While | was walking along the beach, | heard a
voice.

(a) customary (b) familiar (c) routine (d) similar



